77

FIFE / Product Number

AUPE

H dimension

W~k

W dimension

B 1L#k / Feet specification

D dimension

ER/A

Feet (R or A)

BT7=HhILT—%4 / Technical Datall

EX (P /H)

Screw (P or H)

EHE X{L#k / Original trapezoid head screw specification

#H{ThILY / Recommended torque
M25 : 0.15N*m ~ 0.2N-m
M3. M4 : 0.3N-m ~ 0.6N-m

(AR

Color Type

HEHINZ / Components

No. 2 %5 / Part name #E / Pcs #'&E / Material - RmEME / Color-Finish
' a—+—Javy 4 TILEF L Fv X+ ADC12 DIVIR— TSy - B (RERRLIE)
Corner block Diecast aluminium ADC12 Silver , Black-Painted (Unfinished inside)
9 Btk ) TIVSIRHIA A6063S-T5 DIV —EE (NERRILIE)
Frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
2 TL—L . TILSIRHAT A6063S-T5 DIV —E R (NEARERILIE)
Panel support frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
4 AT ) 7 ILEHR A1100P DIVA—BE (REERLE
Panel Aluminium A1100P Silver=Painted (Conductive inside)
5 HN— : 7 ILEHR A1100P DIbnN—- ZBE (REERNE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 ThiN— 1 7 LR A1100P DILA—-E% (EEERLE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
JLE TPE (T5RMT) T5v9
7 Rubber feet 4 TPE (Elastomer) Black
TILZE FILE & 2)avd L SILIR—-FILIA & T5VY
Aluminium feet Aluminium & Silicone Silver=Anodized & Black
o EMCY—ILRH R vk 1 BEMMHE (ULIV-0) A9 9T L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 H{FTE R (M3 x 8) 16 % =L AYFE
Screw (Flat head M3 - 8) Steel Nickel plated
10 BR{FER (AFM3 x 5) i % =YL AYE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
11 HTE R (/812 KM4 x 8) 4 5 =lE/OA—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate
1 MAER GETFMIEFAM25x 7) e # ST ILAYE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

|E| JLE / Rubber feet

T ILZZE / Aluminium feet

[P] 7SR / Phillips

73f / Hexagon—socket

8114k / Color Type

525 / Code a—73—78v% / Corner block {8I#R / Frame ISFIL / Panel #3/8— / Top cover | T#H/3— / Bottom cover
S S < )Ls\— / Silver < )LsN—/ Silver | 2 JLsN— / Silver < JLsN— / Silver < JLsN— / Silver
S B 7594 / Black < JLiN— / Silver | < JLsN— / Silver < )Lsx— / Silver < )L13— / Silver

a4/ Title
TAKACHI| BXSHANFEMTE R ILIEBREMCS — LR — 2 O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. | EMC SHIELDED ENCLOSURE with DETACHABLE PANELS
&R/ Approved #%[X]/Checked #[X/Created FIF /Product number RFE/Scale
iR ¥ A& AUPE177-25-4300-0O0 p—s v

1ERK B /Date

2024/05/29

177

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




D view

B-B(1:5)

383

203

177x0.5

E view

15

A-A(1:5) C-C(1:5)
o o
2 =
416 242
C view B view
430+0.8
4/ Title

BARHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

INRILEFREMCY — LR —XR
EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

o |
7|

7 5%/ Approved

iR

#%[X]/Checked

T

#I[X]/Created

fi] A

FIF /Product number

AUPE177-25-43010-010

RE/Scale
1:5

YERC B /Date 2024/05/29

R—/Page

2 /17

AREDEFEIIBRRSHINDFER T E(CRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

380 22.5

(L

o ~

— ©

3

=

<

* = o)

5 5

M / Front side

2-M3FAHIR
2-M3 Countersunk

¥ ximEEFE4Hk / Same on the other side.

D {8I#% / D Frame

[
B2

M / Front side

3.3

3.3

ZE@ / Back side

%M / Back side

a4/ Title
TAKACHI| BXESH4DhFERIE B4R () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7&K R/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR : B R e
H177 — D430 1ERK B /Date 2024/05/15 3 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




22.5

200

2-M3FH37%
2-M3 Countersunk

o———

14

6.8

45

29

1.6

ET47K / Total 4 pieces

a4/ Title
TAKACHI| HASHINFEKIE IL—L @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel support frame
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:1
iR : B e
W250 1ERK B /Date 2024/05/15 4 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\2RJL / A Panel

199.5

oY
Se_

H#~TiE& / Max dim.192+0.5

)
\ Y4
<
©
2N
N7
M / Front side
B /\2x)L / B Panel
[~ 28
\ V4
3
N7

M / Front side

BR~i% / Max dim.143.6+0.5

3.5 2

REES—HA

Surface protective film side

4-M25FAZILRY)—T

4—Metal sleeve for M2.5

I
I
RE—MAY
Surface protective film side
I

176

156.5

| / Back side

EL[E / Back side

BARHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
N

Panel

e Yl
L

23/ Approved

iR

t&X/Checked #I[X]/Created

£ fi] A

FIE /Product number

RE/Scale
1:25

H177 - W250

YERZ B /Date 2024/05/15

R— /Page

5 /717

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




239.4

4-R14.7 220
/o &
> 3 o o
; <
NG S

M / Front side

Bxh~ti% / Max dim. 203+0.5

6—24.5

A#h~ti% / Max dim. 383+0.5

fREES—HA

Surface protective film side

PAN
7

~
(9]

ZEm / Back side

194

ﬁ\

PAN

194

o
(9]

a4/ Title
A - .
TAKACHI| HASHINFEKIE FN— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:3
hif : Bt R e
W250 - D430 1ERk B /Date 2022/11/16 6 7/ 7

AREOEFREFIHRXSHINTFERITEICRBLET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO

., LTD. All Rights Reserved.




239.4

220

191.4

4-R14.7
(o )
o o

< <

- o .
2 8 = ? 7
< ™

L &
\ %

M / Front side

Bxh~ti% / Max dim. 203+0.5

6-24.5

Axh~ti% / Max dim. 383+0.5

4-M4

fREES —HA

Surface protective film side

~
19

194

/s

0
19

o

X / Back side

W250 - D430

YERZ B /Date 2022/11/16

a4/ Title
TAKACHI| #HA&#HINDFERTX THA— @) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
£3/Approved 18X/ Checked #[X/Created FIF /Product number RE/Scale
1:3
R £ 5 R— /Page
7 /7

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






